

APLICA LAS PROPIEDADES

CONMUTATIVA

$$3 \quad 3 \quad 8 \quad + \quad 6 \quad 9 = \boxed{} + \boxed{} = \boxed{}$$

$$0 \quad 2 \quad 4 \quad \times \quad 3 \quad 3 = \boxed{} \times \boxed{} = \boxed{}$$

ASOCIATIVA

$$(\boxed{} + \boxed{}) + \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

$$15 \quad + \quad 78 \quad + \quad 41 = (\boxed{} + \boxed{}) + \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} + \boxed{}) + \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

Resultado paréntesis

Resultado paréntesis

$$(\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

$$9 \quad \times \quad 33 \quad \times \quad 7 =$$

$$(\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

Resultado paréntesis

Resultado paréntesis

DISTRIBUTIVA

$$94 \quad \times \quad (92 \quad + \quad 13) = 1^a \quad \boxed{} \quad \times \quad \boxed{} = \boxed{} \quad 2^a \quad \boxed{} \quad \times \quad \boxed{} + \boxed{} \quad \times \quad \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

$$23 \quad \times \quad (58 \quad - \quad 18) = 1^a \quad \boxed{} \quad \times \quad \boxed{} = \boxed{} \quad 2^a \quad \boxed{} \quad \times \quad \boxed{} - \boxed{} \quad \times \quad \boxed{} = \boxed{} - \boxed{} = \boxed{}$$